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Select location_name, from employees e, departments d location 1

where e.salary > 10000 and d. department name = ‘Finance’
and e. department_id = d. department_id
and d. location_id = 1. location_id
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/*+ use_nl(l) index (e emp_sal idx) index(d dep_id_name_idx)
index (1 loc_id_pk) */
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emp_sal_idx : e (emp) TD saraly ¥ZxT 54 T v 7 A

dep_id_name_idx : d (department) FIZxf7 5 department_id % &
department_name F3 ¥ — MR OEEA T v 7 A
loc_id_pk : 1 (location) F D id ¥ Z#Ep%IZ L7=FF—
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| SELECT STATEMENT | |
|® NESTED LOOPS | |
|® NESTED LOOPS | |
X2 I:’FABLE ACCESS BY INDEX ROWID | EMPLOYEES |
|
|

INDEX RANGE SCAN | EMP_SAL_IDX
X4 TABLE ACCESS BY INDEX ROWID | DEPARTMENTS
* K3) INDEX RANGE SCAN | DEP_ID_NAME_IDX |
|@ “TABLE ACCESS BY INDEX ROWID | LOCATIONS |
* X6) INDEX UNIQUE SCAN | LOC_ID_PK |

4 —access ( “E”.”SALARY” > 10000 )

6 —access ( “E”’DEPARTMENT_ID” = “D”’DEPARTMENT_ID” AND
“D”.” DEPARTMENT _NAME” = ‘France’ )
8 —access ( “D”’LOCATION_ID” = “L””LOCATION_ID” )
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1. e. emp_sal_idx Zff > T e. salary > 10000 Z iR 5
2. 1.0fEFRDFED e. department_id (Z%F L T, d. dep_id_name_idx Zff-> T
e. department_id = d. department_id and d.department_name = 'Finance'
TR T D
3. 2.0%ERDFE D d. location_id 2%t LT, 1. LOC_ID PK #ff > T d.location_id =
1. location_id Z 5 & L CHEA T 5
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autotrace ZfE > T, Select XD FEITT 5
69 consistent gets (Tr7vALIET vy 78Ny 77 X+T 4 A7 1,70 30))
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/*+ use_nl(1) index (e emp_deptid_sal_idx) index(d dep_name_idx)
index (1 loc_id_pk) */
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3¢ use_nl(1) : T— 7 NV OREE IR, 8 HIAYIZ Nested Loop 55 21T 9
emp_deptid_sal_idx:e (employees) (2%} % department_id & salary
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dep_name_idx : d (department) F® name ¥iIZxT 54 T v 7 A
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| 0 | SELECT STATEMENT |
| 1 |@ NESTED LOOPS |

| 2 |®@ FNESTED LOOPS |

| 3 |1® ABLE ACCESS BY INDEX ROWID | DEPARTMENTS
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INDEX RANGE SCAN | DEP_NAME_IDX
4] TABLE ACCESS BY INDEX ROWID | LOCATIONS
%k | @ INDEX UNIQUE SCAN | LOC_ID _PK
%k /@ “INDEX RANGE SCAN | EMP_DEPID SAL IDX
4 —access ( “D””’DEPARTMENT NAME” = ‘France )
6 —access ( “D”’LOCATION_ID” = “L””LOCATION _ID” )
7 —access ( “E”’DEPARTMENT ID” = “D””’DEPARTMENT ID” AND

“E””SALARY” > 10000 )
filter ( “E”.”SALARY” > 10000 )
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1. d. dep_name_idx %fifi > T d. department_name = 'Finance' #5375
2. 1.0OFFEDFKD d. location_id (Zxf LT, 1. LOC_ID_PK % ff~ T, d. location_id
= L location_id Z 5 & LTHREAT 5
3. 2.0%EHRDFD d. department_id FiZxf LT, e. emp_deptid_sal_idx #ff~> T

e. department_id = d. department_id and e. salary > 10000 %58 L%
AT D
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autotrace Zf#i - T, Select XDFELT
8 consistent gets (Tr7vALIET vy 78Ny 77 X+T 4 A7 1,70 30))
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Select /*+ wuse_nl() index( 7—7 W41 A>T v 7 A1 )
index( 7—7 N2 AT VTR ) oo ¥
From
Where RRREME

K AT v AL EEM LUT-5E120X. Oracle i b AN 2A T v 7 A%ZEIR L T
LB ZAT 9

il

Select /*+ index( flagtest flagtest_idx ) */
From flagtest
Where key = 'Y' ;



